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1) All questions are compulsory. 
2) Figures to the right indicate full marks. 

Instructions: 

Q1) Complete the following sentences by choosing correct alternative: 10 
i) Violation of laws of state results in 

a) reward 

b) Punishment 

c)critize 

d) none of these 

i) A hypothesis must be based on 

a) dea 

b) fact 

c) blind belief 

d) none of these 

1) Interpolation is a type ol 

a) scientilic explanation 

b) popular explanation 

c) fact 

d law 

P.TO. 
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v) The conclusions in the scientific induction are 

a) definitely true 

b) problably true 

c)logical 

d) none of these 

v) Simple enumeration is a type of 

a) inductive inference 

b) deductive inference 

c) fact 

d) hypothesis 

vi) Observation under controlled conditions is 

a) mal-observation 

b)non observation 

c) experiment 

d) law 

vii) There are types of verification of hypothesis 

a) 2 

b) 3 

c) 4 

d) 5 
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Vil) There are types of laws of nature.? 

a) 2 

b) 3 

c) 4 

d) 5 

ix) is the first step of scientific induction. 

a) formation of a problem 

b) theory 

c) law 

d) hypothesis 

x) According to the principle of the nature is uniform and orderly. 

a) uniformity of nature 

b) objectivity 

c) causality 

d) gravitation 

02) Write short answers of the following questions: (any four) [201 

a) Definition and nature of hypothesis. 

b) Simple enumeration. 

c) Fallacies of observation. 

d) Laws of state. 

e) Principle of causality. 

1 Types of explanation 

-3 
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03) Answer the following questions fully. (any two). 20 
a) Explain the advantages of experiment. 
b) Distinguish between verification and proof of Hypothesis. 
c) Explain the stages of scientific induction. 

1) Hd Ia 3Tayas HTET. 
2) 

T.1) atra Tuta fAaa Tata faurà yui [10] 
i) Ta AuHra 3 aTAR. 

) 

i) tHEzTa hrAtT ... 7 ATTfta zet. 

3) hTTAT 

a) 

) 

ii) aT STA 3T. 

a) 

TAT 

-4- 
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